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Question 1

Complete

Mark 0 out of 1

Monday, 25 April 2022, 6:01 PM
Finished

Monday, 25 April 2022, 6:15 PM
14 mins 5 secs

7 out of 12 (58%)

At decision logics which statement IS NOT true for credit type decision?

Select one:

Criteria / conditions should be met.

Student credit belongs to this type of decision.

The result will be binary.

Only a limited number of applicants can get credit.

There is no competition between candidates.

The correct answer is:

Only a limited number of applicants can get credit.



Question 2

Complete

Mark 1 out of 1

Compare cooperative and non-cooperative game theory!

Select one:

a. There is competition in both, and in the cooperative one there is also cooperation.

b. There are cooperation and competition in both.

¢. Inthe cooperative one, there is only cooperation; and in the non-cooperative one there is only competition.
d. There is competition in both, players can communicate freely with each other in the non-cooperative one.

e. There is cooperation in both, and there is competition in only non-cooperative one.

The correct answer is: There is competition in both, and in the cooperative one there is also cooperation.

Question 3
Complete

Mark 1 out of 1

What does the efficiency of execution of managerial decisions depend on?

Select one:

a.
Influence of manager

Prestige of manager

c. How the manager team members appreciate each other

Authorization of manager

How integrated the different components of managerial power are

The correct answer is:
How integrated the different components of managerial power are



Question 4

Complete

Mark 0 out of 1

Which ones are the levels of digital convergence bottom up?

Select one:

@ Technology level, market level, regulatory level

b Media convergence, networked society, digital ecosystem

¢ Convergence of network functions then the media functions
d. Networked society, media convergence, digital ecosystem
e.

Technology level, regulatory level, market level

The correct answer is:
Technology level, market level, regulatory level

Question 5

Complete

Mark 0 out of 1

What are the Balanced Scorecard viewpoints?

Select one:

@ Financial, Marketing, Technological, Innovational

Owners, Customers, Managers, Employees

c. Comprehensive, Community, Individual, Unit

Owners, Customers, Partners, Vendors

The correct answer is:

Owners, Customers, Managers, Employees

4

4r

4r

4



Question ©

Complete

Mark 1 out of 1

Which property IS NOT characteristic to management?

Select one:

@ Organization independent

b Limited rationality

¢ Dual

d. All the other options are characteristic to management
e.

Environment dependent

The correct answer is:
Organization independent

Question 7

Complete

Mark 1 out of 1

Human Resource Data Analytics aims

Select one:
a. to monitor (log) everyday habits of the workforce while doing the job
b. to monitor (log) workforce's deviation from its concrete tasks
c. to limit workforce's deviation from its concrete tasks

d. to improve the organization's workforce performance

The correct answer is:
to improve the organization’'s workforce performance



Question 8

Complete

Mark 1 out of 1

Lateral way of thinking means

Select one:

@ Capability to change viewpoint

b Think more quickly

¢ Communicate more efficiently
d- Understand and react properly
e.

Feel the risks in an intuitive way

The correct answer is:
Capability to change viewpoint

Question 9

Complete

Mark 0 out of 1

Agile Project Management

a. is based on exact planning of all the internal relations of the project tasks in advance
b. is a method for managing independent projects of common resources simultaneously
c. is deterministic in time planning, i.e. fixes the durations of all activities

d. uses iterative “time boxes” to develop a workable product that satisfies the customers and key stakeholders

The correct answer is:
uses iterative “time boxes” to develop a workable product that satisfies the customers and key stakeholders

4

4

4

4r



Question 10

Complete

Mark 0 out of 1

Hofstede's cultural dimensions are

Select one:

a. Individualism, time horizon, kindness, attention

b. Patience, attention, kindness, charity

¢ Uncertainty avoidance, time horizon, feminity, charity

d. Power distance, individualism, masculinity, uncertainty avoidance, time horizont
e.

Power distance, masculinity, patience, politeness

The correct answer is:
Power distance, individualism, masculinity, uncertainty avoidance, time horizont

Question 11

Complete

Mark 1 out of 1

Which one should NOT be part of the general definition of 'strategy'?

Select one:

@ Astrategy is .... a set of performace indexes defined for a business unit.

b A strategy is .... longer term organizational targets, the way to reach them, priorities.

¢ Astrategy is .... well-established, robust, lucid (for all concerned persons) ....

d a strategy is ... a consistent entirety of determinations, that constitutes a comprehensive whole ...
e.

A strategy is ... accepted by the key managers ...

The correct answer is:

A strategy is .... a set of performace indexes defined for a business unit.



Question 12

Complete

Mark 1 out of 1

Competence is

Select one:

a.
chance to do something without capital.

b.
professional knowledge with responsibility
¢ independence from the environment
d. human right of the manager
e.

right to do something.

The correct answer is:

professional knowledge with responsibility
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